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a. Using the differentials to approximate the given quantity: J26.5. (1077

b. Also, obtain the second Taylor polynomials of f(x) = Jx atx=25and use it to
approximating the value of J26.5 . (104))

c. The exact value of +/26.5 , rounded off to five decimal places, is 5. 14782. Please
compare results in a. and b. (1047)

KR (2053)

Determine the relative extrema(s) and/or inflection point(s) of the function

f(x)‘=4x3-3x4 using the first or second derivative test.

KM (2047)
LALTEZ EEA S HE SRR L AT 1T AR HREBURER - Fea
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=] ] 2 3 4 5 6 7
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(240 Lon = 2.998; To001 =3.143; 15405 =3.499; 1,005 = 3.707)
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HERPNATRIE > AL B AT RIS TR ROR - 55 AL
il B EREE ET SRR » BRI mRE T A BRI A2 55
FEREER  FIHEER/NT RS T YRR -

Y=a+pX+rD+¢

SRR B : B70) | XRRBRERCLAL - ) 5 D=1 {LRALE -
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RITER 0.821
R 0.674
TR T 0.661
FEHER 333.333
B ER R 55 \
ANOVA :
H A SS MS FiE P{E
Pl 2 11933310 5966655 (D) 0.000

bEAE 52 5777763  111110.8
FERD 54 17711073

1R FEHER tHRET P/l
iR -675.283 207.404 (A) 0.002
B =R 32.032 3.267 (B) 0.000
T 764.788 138.564 (C) 0.000

. PR R IRGEER RI(2.03) L BERBM 2 (35D

b. SHIRTEFT R R (A(764.788)C BEEM 2 (357)

c. FARHTIA) - (B) - (CMIBE - (35

d. FEERRIPIEY BT 2 (35)

e FHMFERT T2 EHBH? (35)
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i, FRERETHRE LR IE R TR 2 (35))
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